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 BBCCT-105  

B.Sc. (HONOURS) IN BIO-CHEMISTRY 

(BScBCH) 

Term-End Examination 

December, 2022 
 

BBCCT-105 : PROTEINS 

Time : 3 hours Maximum Marks : 70 

Note :  Attempt any seven questions. All questions carry 

equal marks.  

 

1. (a) Fill in the blanks :   51=5 

(i) ________ and ________ are Ketogenic 

amino acids.  

(ii) _________ is the working force behind 

centrifugation.   

(iii) The primary step in the mass 

spectrometric investigation of a 

molecule is the production of 

_________.  

(iv) _________ antibody is known as 

secretory immunoglobulin.  

(v) The molecules that assist protein 

folding in vivo are known as 

_________.  

No. of Printed Pages : 6 



BBCCT-105  2 

(b) Match the following :    51=5 

(i) Edman degradation (a) RNA 

(ii) -mercaptoethanol  (b) Haemoglobin  

(iii) Microarray (c) Hamburger 

(iv) Tetrameric protein (d) Primary 

Structure 

(v) Chloride Shift  (e) Disulfide bonds  

2. Differentiate between any two of the  

following :  25=10 

(a) Heavy and Light chains of Immunoglobulin  

(b) Mechanical and non-mechanical methods of 

cell disruption 

(c) Haemoglobin and Myoglobin  

3. Define the following :  52=10 

(a) Rf value  

(b) RCF  

(c) Peptide bond 

(d) Protein motifs 

(e) Swiss-Prot  

4. Write a detailed note on thin layer 

chromatography.  10 
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5. (a) Enlist the applications of Electrophoresis.  5  

(b) Write the principle of Mass Spectrometry.  5 

6. Explain any two of the following :  25=10  

(a) Chaperones  

(b) Transport proteins 

(c) Bohr effect  

7. (a) What is a Database ? Explain different 

types of protein databases with suitable 

examples.  5  

(b) Write a short note on Thalassemia.  5 

8. Describe the structure of immunoglobulin G 

(IgG) using a neatly labelled diagram.  10 

9. Explain sliding filament model of muscle 

contraction.  10 

OR 

 Explain the structural hierarchy of proteins with 

the help of neatly labelled diagrams.  10 
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 ~r.~r.gr.gr.Q>r.-105  

O¡d-agm`Z _| ~r.Eg gr. (Am°Zg©) 
(~r.Eg gr.~r.gr.EM.)  

gÌm§V narjm 

{Xgå~a,  2022 

~r.~r.gr.gr.Q>r.-105 : àmoQ>rZ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 70 

ZmoQ> :  {H$Ýht gmV àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 
h¢ &  

 

1. (H$) [aº$ ñWmZm| H$s ny{V© H$s{OE :   51=5 

(i) _________ Am¡a _________ H$sQ>moO{ZH$ 
Eo_rZmo Aåb h¢ &  

(ii) AnHo$ÝÐU Ho$ {bE H$m`© H$aZo dmbm ~b 
_________ h¡ &  

(iii) {H$gr AUw Ho$ Ðì`_mZ ñnoŠQ´>_{_Vr` AÝdofU 
_| àmW{_H$ MaU _________ H$m {Z_m©U h¡ &  

(iv) _________ à{Vajr/EopÝQ>~m°S>r H$mo òmdr 
Bå`wZmo½bmoã`w{bZ H$hVo h¢ &  

(v) Ordo àmoQ>rZ dbZ _| ghm`H$ AUwAm| H$mo 
_________ H$hVo h¢ &  
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(I) {ZåZ{b{IV H$m {_bmZ H$s{OE :  51=5 

(i) ES>_¡Z {ZåZrH$aU (a) RNA 

(ii) -_H£$ßQ>moBWoZm°b (b) hr_mo½bmo{~Z 

(iii) _mBH«$moEao (c) h¡_~J©a 

(iv) MVwï>`r (Tetrameric) 

àmoQ>rZ 

(d) àmW{_H$ g§aMZm 

(v) ŠbmoamBS> {dñWmnZ (e) {Û-gë\$mBS> ~§Y 

2. {ZåZ{b{IV _| go {H$Ýht Xmo Ho$ ~rM AÝVa ñnï>  

H$s{OE : 25=10  

(H$) Bå`wZmo½bmoã`w{bZ H$s XrK© Am¡a bKw ûm¥§Ibm 

(I) H$mo{eH$m ^§OZ (disruption) H$s `m§{ÌH$ Am¡a  
µJ¡a-`m§{ÌH$ {d{Y  

(J) hr_mo½bmo{~Z Am¡a _m`mo½bmo{~Z  

3. {ZåZ{b{IV H$mo n[a^m{fV H$s{OE : 52=10  

(H$) Rf _mZ 

(I) RCF 

(J) noßQ>mBS> ~§Y 

(K) àmoQ>rZ _moQ>r\$ 

(L>) pñdg-àmoQ>  

4. nVbr naV dU©bo{IH$s na EH$ {dñV¥V {Q>ßnUr {b{IE &   10   
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5. (H$) d¡ÚwV-H$U-g§MbZ Ho$ AZwà`moJm| H$mo gyMr~Õ  

H$s{OE &  5    

(I) Ðì`_mZ ñnoŠQ´>_{_{V H$m {gÕm§V {b{IE &  5 

6. {ZåZ{b{IV _| go {H$Ýht Xmo  H$s ì`m»`m H$s{OE : 25=10  

(H$) M¡namoZ 

(I) A{^J_Z àmoQ>rZ 

(J) ~moha H$m à^md  

7. (H$) S>oQ>m~og Š`m hmoVm h¡ ? C{MV CXmhaUm| g{hV {d{^Þ 

àH$ma Ho$ àmoQ>rZ S>oQ>m~og H$s ì`m»`m H$s{OE &  5   

(I) W¡bogr{_`m na EH$ g§{jßV {Q>ßnUr {b{IE &  5 

8. ñdÀN> Zm_m§{H$V AmaoI H$s ghm`Vm go Bå`wZmo½bmoã`w{bZ Or 

(IgG) H$s g§aMZm H$m dU©Z H$s{OE & 10 

9. noer g§Hw$MZ Ho$ gaH$Zr VÝVw _m°S>b H$s ì`m»`m H$s{OE &  10 

AWdm 

 ñdÀN> Zm_m§{H$V AmaoIm| H$s ghm`Vm go àmoQ>rZ Ho$ 

g§aMZmË_H$ nXmZwH«$_ H$s ì`m»`m H$s{OE &  10 

 

 


